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Set No. of Question Paper,

(MAY, 2021) circle against which is to be
SCIENCE STREAM darken in OMR sheet.
(CLASS - XII)

' (New Course)
Part -A : Time : 1 Hour/Marks : 50

Part - B : Time : 2 Hours / Marks : 50
(Part - A)

Time : 1 Hour] [Maximum Marks : 50

1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR Sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O and (D) O. Darken the
circle @ of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6) Set No. of Question Paper printed on the upper- most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7) Use of simple caleulator and log table is allowed, if required.
8) Notations used in this question paper have proper meaning.

/ Rough Work
1) I 3-2x-x*dx = +C. ough Yvor
]
‘(A)/5(x+1)\/3—2x—x2—210gx+1+\/3—2x—x2
| I o
| (B) -2-(x+l)\/3—2x—x2+sm ﬁ_l)

2

1 )
(C) 5(x+l)\/3 2x —x? +2108[x + 1+ 3 - 2x — 7
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2) jlog x‘dx = _______+C. Rough Work

(A) xlogx-x (BY™ 2x (log x + 1)

e

3 [ e _

(x-1)° + C.

x

(x-1)°

(A)

& -

(x-1)*

X

(x-1)

©

X

e

(D) (x_ 3)2

J- dx

4) e“+e”

= + C.

m log (& +e™) (B) tan™ (e™)
(C) log(ef—e™) (D) tan™ (€)

|

5) jsin" X dx = ‘
0
(A) 0 B) m-1

1
it _’;_—1 - l
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x 1
® 372
z 1
(D) )

| =

(]

K &

8) The area bounded by the curve y = cos x between x = _g

and x=mis
(A) 3

o1

square umit.
(B) 2

% 3

2 2

9) The area of the region bounded by the ellipse LI SN

1s

(&) 144n
(B) 6m
(C) 12n
(D) 72n

square unit.

16 9
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10) Area of the region bounded by the curve y* = 4x, Y-axis and| Rough Work

the line v = 318 square units.

(A) 2 (B)

i

9
of 5 )

2
11) The degree of the differential equation
2.3 2
d )21 +(£11v— +cos(é}—)]+1 =0 ig
dx dx dx
(AJ 5 (B) 2
<O 1 | (D) not defined

12) For the differential equation sec? x tany dx +sec? y tan x dy =0,
the general solution is '

(A) tanx—tany=C (B) tanxtany=C

@tanx+tany=c @) tanxcoty=C

13) The number of arbitrary constants in the particular solution
of a differential equation of fourth order are

(&) 4 ®) 1
(C) 2 D) 0
QA bAAT
LAXYTIM 2
14) 1f (20 467+ 27/2)*(f+ Aj+ #12) _othenA+p= 2, (1A% M)
21

33
(A) , B)

o

2 (D) 33
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15) For given vectors, G - 2i -~ J+2k and b =—~1+ -k, the
vector whose magnitude v/2 unit in the direction of the »
vect R Y
‘eClor g + = . ~
™ 4k
AV [+k (B) i+2j+k
© i+j D) 7k

16) The-angle between two vectors & and 5 with magnitudes

1 and 2 respectively is ,where G-b =1 .

ul /4
@A) 7 ® =

o Z z
© 3 ® 2

17) If a is a unit vector and (¥-a)-(¥+d)=8 then

¥ =

(A) -3 ®B) 9
© 7 (D) 3

18) The projection of the vector i~j on the vector P4

(A) -1 B) 0

|
(C) 7 (D) 1
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19) Let g and 5 be two unit vectors and 0 be the angle between

them and @—5 be a unit vector. Then 6 =

A T T
@& 7 B 7

2
(@) ? (D) Tﬁ

1- 7y-14 z-3 7-7x -5 6-z
x: Y = and =y =

20) Ifthelines

3 2p 2 3p 1 5
are perpendicular then p =
70
(A) — : (B) 10
11
70
© -7 @y -10

21) The cartesian equation of the plane which passes through

the point (5,2,—4) and perpendicular to the line with direction
ratios 2,3,-1 is .

(A) 2x-3y+z=12 (B) 2x+3y-2z=20
CY 2x+3y-z=12 —
vf y-z D) 2x+3y+z=20 -1 _ \o
7
22) Theequation of the plane passing through (a,b,c) and parallel P = o
_fn e o kM
to the plane r-(i+j+k)=2 is ¢
\2} Xx+y+z=0 %*%“’%:1
) x+y+z=abc x

C) x+y+z=a+b+,

(D) bcx + acy + abz = 3abe
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23) |t tor a hinear programming problem feasible region 1s Rough Work
bounded, then the objective function has

(A) only maximum value p
(B) only minimum value yre
£&Y both maximum and minimum value

(D) neither maximum nor minimum value

24) Comer points of the feasible region determined by the system
of linéar constraints are (0,3), (1,1) and (3,0). Let Z = px + qy,
where p,q > 0. Condition on p and g so that the minimum of

Z occurs at (3,0) and (1,1) is . - ?:Z
(A) p=2g (B) p=3q €=q
© p=1 @f p=gq
2 o - o
5% = ) \5
e,k 2 \,.g
25) For LPP problem if Z = 4x + 3y and corner points of the| ¢ (2
bounded feasible region are (0,0), (25,5), (16,16), (5,24) then
maximum value of Z occurs at the point
L (A) (0,0) B (16,16) |
b
(C) (25.5) D) (5,24) L’},‘;
£ ne-vFTH
o 1t
\L3

: 1 3
26) For independent events A and B if P(A) = 5 P(AUB) = = 1o+ b1 = T

- . \
then P(B) = 1&
(A) 0.0 B 02 =
() 0.1 M 0.5 Ppoe - 0003
faxPe - Ppun) Pava - Yo
Ppos) - 00«?%"19”‘9 ok /
" v ,"/ i & =
0 v Vs - S
ACIRAY ‘n
el B
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27) 1t 2P Py and P(A/B) then LObn
13 5 opus > ¥® NZ2 7
PALUB) = : PALB = PA- L5 A% - -
- _u” 1} 13
- 11 19
A ¢ (B) % .;.,.i,-L
s 847
1 2 ve
) — D)y — A 7
: 13 (D) 13 'Aw 13
P POt
28) If A and B are two independent events, then o P
P(AUB) = . ne) = PAxes
\ -~ PaP
(A) 1-P(A")P(B") (BY" 1-P(A) P(B)
(© PA)+P(B) (D) P(A)P(B)
29) The relation S in the set R of real numbers, defined as
S={(ab):a<b}isa relation.
_ a=bt
(A reflexive v
2,1
(B) transitive 9% :)
w,® '6
(C) symmetric
@ not an equivalence
\ \
T
30) N >N, f(x)=x"is . 3 19
M one-one and onto functigy,
U,w one-one but not onto a
.
|
(C) not one one and not oy, function ' \ '4 \ l
(1)) not one-one but ontg
VvHU(10) (New)

For More Papers Visit V\,r‘ww.VisionPapers.in m


http://www.VisionPapers.in

e

31) Let * be the binary operation on 7
then (2 % 3) w 4 =

(A) 264
(B) 218
M 2256

(D) 2512

32) If cosec!x = Y, then ye

® |53

T
B) |-5.%
(B) )

1
33) The principal value of cot™ [—7—5)

defined by g% p =2

2 V4
ka i) B) —
By 3 (B) 3
2 T
“w st (Dy -=
(C) ; ) 3
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¥/
()—2-
©c Z
) 3

Yz
4
iz
(D) 2
x
"(B) -
.
T
(D) -
3

o et
A 3
of :

36) For matrices A and Bif A'=

(BA) is a

-

(B)

square matnx
row matrx

(C) column matrix

(D) not defined

and B'=[4 3 2] then

W) D e

Qr\ ie‘ ‘:mg)\
" Pt t
L

B
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Sl (oSA

) I A:Pm e

and A + A’ = I, then value of «
Sina cosa} an A

1S

—_—
T
(A) 3 (B) w
of = =
3 ®) 3
@ o e oylosd — Y
: S'wa  Cdy
38) If thg matnx A is both symmetnc and skew symmetric,
then 3

(A) A is a diagonal matrix

(B) A is a square matrix

(,& A is a zero matrix

@f Ais aldentity matrix -

70 30
39) Formatn'cesXedeifX+Y=[2 SilandX—Y=L) 3}

then 2X =

wh

(10 0 0]
(6/2 g] B 11 4

(C)

2 0]
4 D)
2 2

B
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Y V)

Vo |

{0 !
Sk Siva
J Snnpk (s

2CoSl = |
Ce$k = L
X = CQS_&‘

525

XAt X=X

1o
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X+ vy V4o 4
40) < \ v _
1 1 1
(A) x+y-2 (B z+x-y
©) y+z-x Dy 0
AN wﬁr
g L) \
2 -2 L =L 4
41) 1fA=\:4 3]&1enA“= o FL X P
DT -~ %
_ 13 2] 1[-3 2 o=~
(A "4 4 2 ) 14| -4 -2 my 2
J M’L— 2
302 1[3 2 S 5 L
© T[4 2 14| -4 2 n T
42) If (k,0), (4,0), (0,2) be the vertices of triangle and area of
triangle is 4 sq.unit then k = . \ 2\ A ()
o L)
@ 0,8 ‘%0, 16 [/ .
+~ O
(C) 0,-8 (D) 0,-16 “ligu a9 = g
[ &
@€\~ &
kcosx . /4
J 2% lfx#; " R
- - :
43) S(x)=1, -
l- ifx ==
2 2
n Kas A
If [ is continuous at x = 5 then the value of & - ) 2
A '
) -,
() (1 A
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a4) i(i“i‘_] _

dx\ 1 + mn: Y . )
(A) 2 cos2x (Bf sin2x
©) cos2x (D) 2 sin2x
45) Ifx= : dy
*=a(1 - cos) and y = a(6 + sind) then o
WY cotd (B) tan®
6 ] P
C) cot— , =
© 5 (D) tan-

46) The point on the curve y = x3 at which the slope of tangent is
equal to the y-coordinate of the point other then origin is

o 1) ® G,27)
© @8 ©) (@ 64)

47) f (x) = 10 — 6x — 242 is strictly increasing in
interval.

@ (=)
® (=3)
o [57)

3
(D) (’ 2
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9} S9N
L

T

a-s<
s \n&
(s

lo~bx—2x
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48)

3 ! work
the normal g the point (1.1) on the curve 2v + « = 3 i Rough

A vy e B) x y=0

) vty =0 (D) x+y=0

49) For the curve y = y? the equation of normal at (0,0) is

(A) x=0 & x=y

Oy =0 & x=-y
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(MAY, 2021)
SCIENCE STREAM
(CLASS - XII)
\ (New Coursc)
- Part - B)
It e rs] ( [Maximum Marks : 50
1) .

s In Part - B of the question Paper and total 1 to 27
Questions gre there.

3) An the Sections are com

Pulsory and general options are given in each Section.
49 T

he numbers at right s

ide represent the marks of the question.
S)  Start New section on new page.
6)  Maintaijp sequence,
7)

Use of simple calculator ang log table is allowed,
8)

if required.
Use the graph paper to solve the problem of L.P.

SECTION -A
B Answer any eight questions from question number 1 to 12, (Each of2 marks) [16]
VY{ Prove that |
-1| acosx—bsinx |  _a x a '
= - —tanx > —1 2
= [bcosx+asinx:| p > Where b ‘ 2] \"%,
N
\ \ \ 2 #:7‘
— ‘9/ 1 Find value of sin(Z tan! _3_] + cos(tan*‘ \/5) i [2]
W Cosa = )\
N 3 2
dy log x
f_}"

—_— = l Al o~ %“n-l 'L'L
3)  Ifw'=e 7, prove that m, 9 om

I

e (X oy |uate this, ”
4) JJ(I D(x~2)

isi jn M
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$)  Find the arca ot the region bounded by x' = 4y.y= 2,y = 4 and Y-axis in the 2}
tirst quadrant
6 Using Integration, find the area enclosed by the circle x’ + y7 = 16
A

2]

Find the slope of the normal to the curve x = | —a sinf, y = b cos at O

X

8)  Find the area of the triangle with vertices A(1,1,2), B(2,3,5) and C(1,5,5). 12}

;‘ﬂ Find the vector equation of the line passing through the point

-8 +19 z-10
(1.2,-4) and perpendicular to the two lines x3 £ y—16 = . and

? ~a + A(b-) 2]

10) Find the equation of the

plane through the Intersection of the planes
3x-y+2z-4=0and x +

¥+2z-2=0and point (2,2,1). (2]
1_;)/ Given that the two numbers appearing on throwing two dice are different find
the probability of the event ‘the sum of numbers on the dice js 4 [2]

\1/2{ Prove that if A and B are independent events, then so are the events A andB’. (2]

SECTION-B

B Answer any six questions from question number 13 to 21, (Each of 3 marks) [18)

. 7 3
atif SiR-{boR- 3. R
13) Show that if / {5} ’« {S} 18 defined by f(x)= 5:.+: -
l

g R {Z[ » R I7I

o Tx+4
% defined 2(x |
s by £(x) sy 3 then sy I, and

}
gof -1, where A = R J

|,,f-” R {:}
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M \1 7__ - =

" ¢ -4 \S¢ f,('sl"

4) § 1 2 3 -7 -8 9
A Fing the matrix X so that X[ s 6l { s 4 6| (3]
cosx -sinx 0
15 1 F(x)=|sinx cosx 0/ show that F(x)-F(y) = F(x + y). [3]
0 0 1
Yo
A%
.. a . 22
'}6) Fmd-a'};) ifx}‘+yx=1. r:)\'bﬂ [3]
b
17) Find the equation of the tangent line to the curve y = x* — 2x + 7 which is
parallel to the line 2x -y + 9 =0, % .42 [3]
a o C
18) For given three vectors 4,b,¢ itis given that G+ 5 +& = 0 and if |a| =1,
[|=4. || =2 then find the valueof &-5+5 -2+ -a. 3]
+1 +1 +1
19) Find the shortest distance between the lines x7 .4 ~ _z . and
Q-a.)
Gy (awe
x=3 y-5_z-7 i 3
2 1 bt 3]
20} Solve the following linear programming problem graphically : [3]
Minimise Z = 200x + 500y
Subject to the constraints
1)
x+2y210 f , o ley) ﬁ[) '))
3x + 4y <24 e .
xg(),yZO N
! l}a&
21y Two dice are thrown together. chl(‘:\ be }he event getting 6 on the first die and
A / B be the cvent getting 2 0N the s¢€Ond die. Check whether the events A and B
are independent. [3]
Wi e) o YL
O nd
) g\)('; ! |7 -
VHU(10) (New) { (P.T.0)
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SECTION -C

Answer any four questions from question number 22 to 27. ( Each of 4 marks) [16]

2 0 1
22) 1 A=|2 1 3| findA’-5A+6l 4]
' 1 -1 0

X+y+2z x y
23) Provethat| Z y+z+2x y |=2x+y+z) [4]

" z x Z+x+2y
C(—')C.\*CI*(B
2 E

24) If cosy=xcos (a+y) with cos a;til,provematfj_’:w_ (4]

> :

dx sina

25) Find local maximum and local minimum values of the function

f given by
fx) =32+ 45 — 122 + 12. (4]
—
x = Cos
(o dr+ ‘}\
5x :

_ dx 653 4
26) Find I(x + l)(x2 +9) ( Cf ket egy +otantiy l I

L ¢ &ot

( o5t A

27) Findthe particular solution of . differential equation -

[y
dy v . conec| J 0.y

Owheny ] (4]
ol X

* % 0
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